© Pearson Education, Inc. All rights reserved.

$28.95. Find the percent of decrease. ‘
_ amount of change&é
~ggiginal amount

_ 32.95 — 28.95 Subtract to find the amount of mhang@)
Substiiute the original ﬁm&%ﬂ‘i

percent of decr

=~ 0. or 12% Write as a decimal and then as a psﬁ%m@m

The price of the skirt decreased by about 12%.

amount of change
original amount

percent of increase =

=7 95

Wiite as a cech

75.35 or 7535%

The federal budget increased by nearly 7535%.

b. What is

.__e greatest
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When a garden plot was m'easdred,_-t_he dimensions -
were 156 in. X 84 in. Use the greatest possible error to
find the mmlmum and maximum possible areas.

Both measurements were made to the nearest whole
.. .inch, so the greatest possible erroris 0.5in. The Iength
'_‘f_‘_r“could be as llttle as 1 55 5 in, or as great as 156 5in. The

.Fmd the mmlmum and maxnmum areas

Minimum Area | | M:a')j('imunt 'Area'
155.5 in. X 83.5in. = 12,984.25 in.2 1565|n X 845|n = 13224251n

~ .. The minimum area is 12,984. 25in.? 2 and the max1mum
“area is 13,224.25 in. 2 :

MPLE: Suppose you measure a Ilbrary book and record
lts w:dth as 17.6 cm. Flnd the percent of error ln your
measurement :

7 '_:_Smce the measurement is to the nearest 0.1 cm, the
__'greatest possrble error is 0.05 cm

: . |

g | o greatest possnble error

| _ ‘pereent error = measurement Use the percent

© ' _ _ error tsrmuta
= _ 0.05
E T &mstttute
‘2 © ~0.0028409091 Divide.

§ = ~03% Reund and write asa percent.
% : Thepe'rcent error is abeut’O'.S%.
° = | |

S
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) A smali jewelry box measures 7.4 cm by 12 2 cm by -
4.2 cm. Fmd the percent errorin. calculatmg its vo!ume

- The measurements are to the nearest 0 1 cm. The

greatest poss:ble error is 0 05 cm.

as measured maxrmum value R 'm’inirr'ium value

s €wh V=¢-w-h  v=e-w-h

 The percent error is about 2% 7'

—74 122 42 ".-‘—745 1225 425 ".7'“'735 1215 415
~ 379.18 cm® =~ 387.87 ' =~ 370.61

Possmle Error maximum — measured .-measured — minimum
o 38787—37918—869 37918-37061—857

Use the difference that shows the greatest possmle error
to find the percent error.

'; greatest possible error

- Use the percent

~percent error = = g s asurement | e
- o - error formula.
= 387, 8.;75 13879 18 - Substitute,
= 3“’?96% o o S&mpia?‘y the ﬁumerater
_' = Q. 0229178754L -  Write as a decamai
= 2% . Round and write as

_apercent.. .
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